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Question ID:- 1

Rearrange the parts in correct order to make a meaningful sentence.

(a) a big growth

(b) after a slump in Covid years,
(c) car sales

(d) have again registered

(1) (b) (¢) (d) (a)

(2) (9 (d) (b) (@)

(3)  (d) () (a) (b)

(4)  (a) (b) (0) (d)

Options:-

=1, Option ID :- 1,



https://t.me/Teachingexam

= 2, Option ID :- 2,
»« 3, Option ID :- 3,

= 4, Option ID :- 4,
Answer Given:- 1, Option ID : -1

Question ID:- 2

Change the following sentence from Active Voice to PassiveVoice.
Sheena will return the book shortly.

(1) The book is sure to be shortly returned

(2) The book will be returned by Sheena

(3) The book will shortly be returned by Sheena

(4) Shortly the book will be returned by Sheena

Options:-

=1, Option ID :- 5,
= 2, Option ID :- 6,
= 3, Option ID :- 7,

= 4, Option ID :- 8,
Answer Given:- 3, Option ID : -7

Question ID:- 3




Fill in the blank with the correct preposition.

Owing his illness, the CEO could not attend the company meeting,
(1) for

(2) of

(3) to

(4) for
Options:-

=1, Option ID :- 9,
= 2, Option ID :- 10,
= 3, Option ID :- 11,

= 4, Option ID :- 12,
Answer Given:- 2, Option ID : -10

Question ID:- 4

Identify the correct tense formwof.the' underlined part in the given sentence.
They have been building the:hOuse for several years now.
(1) Present Continuous

2

Present Perfect

&%

(2)
(3) Present Perfect Continuous
(4) Past Continuous




Options:-

=1, Option ID :- 13,
= 2, Option ID :- 14,
« 3, Option ID :- 15,

= 4, Option ID :- 16,
Answer Given:- 3, Option ID : -15

Question ID:- 5

Change the following sentence from Direct Speech to Indirect Speech.
He said to me, ‘I don’t believe your story at all.

(1) He told me that I did not believe his story dtall.

(2) He told me that he did not believe my story at all.
(3) He said that he didn’t believe in niy story at all.
(4) That he did not believe my stof'y was,conveyed to me by him.

Options:-

=1, Option ID :- 17,
= 2, Option ID :- 18,
« 3, Option ID :- 19,

= 4, Option ID :- 20,
Answer Given:- 2, Option ID : -18




Question ID:- 6

Identify the part which contains an error.
We are / in the final stage /of resolving the border dispute / among the two states.

(1) 2) 3) (4)

Options:-

=1, Option ID :- 21,
= 2, Option ID :- 22,
« 3, Option ID :- 23,

= 4, Option ID :- 24,
Answer Given:- 4, Option ID : -24

Question ID:- 7

Choose the word nearest in meaning to the given word.
REPRIMAND

(1) shout

(2) admonish

(3) vilify

(4) criticise
Options:-

=1, Option ID :- 25,




= 2, Option ID :- 26,
= 3, Option ID :- 27,

= 4, Option ID :- 28,
Answer Given:- 2, Option ID : -26

Question ID:- 8

Choose the word opposite in meaning to the given word.
OSTRACISE

(1) criticise

(2) welcome
(3) patronise
(4) internalise

Options:-

«1, Option ID :- 29,
= 2, Option ID :- 30,
= 3, Option ID :- 31,

= 4, Option ID :- 32,
Answer Given:- 3, Option ID : -31

Question ID:- 9




Identify the part of speech of the underlined word.
Being a devotee, he observes fasts on all pious days.
(1) Pronoun

(2) Noun

(3) Adjective

(4) Verb
Options:-

=1, Option ID :- 33,
= 2, Option ID :- 34,
= 3, Option ID :- 35,

= 4, Option ID :- 36,
Answer Given:- 2, Option ID : -34

Question ID:- 10

Identify the clause in the undeslined/portion of the given sentence.
Can you tell me who wrote the Panchtantra ?
(1) Adjective Clause

(2) Noun Clause
(3) Adverb Clause
(4) Principal Clause




Options:-

=1, Option ID :- 37,
= 2, Option ID :- 38,
= 3, Option ID :- 39,

= 4, Option ID :- 40,
Answer Given:- 1, Option ID : -37

Subject : GH_Q11-Q20_TGTENG

Question ID:- 11

frefeTiiaa =iyt st Ut 39 UL 3T U9 Rl FaL iy

e | S YIS ¢ T & 919§ FERad g2 3 21 § | 3Hh1 g9 el TR 39 98 | aee
i ot Tl W erd-herd Hi- i TRE NG 1S9 e % E 8 W 98 [ Sererd e off et
TXTERTET ST feRT - Ere-H1 Wetd eIt Weh HISHET -9 =i el T T Y10l § o a1 § | TMe 3 &g SiRl-ael
e M & Bro-de g 941 IeFH i TES YA S0 A Hi g1 THerd & S A g =16l 99d ©

e # YS! 1 3¢d Fal § BAqLe?
(1) s & fram

) ge-diqel  die
(3) W & s

) afg=E! ®H




Options:-

=1, Option ID :- 41,
= 2, Option ID :- 42,
= 3, Option ID :- 43,

= 4, Option ID :- 44,
Answer Given:- 2, Option ID : -42

Question ID:- 12

FrAfaiEa TenyT o UgE 3W T ST U9 Rl STy elfan :

TtE | U9 G391 ¢ Tgat & 919 & e g2 3ad 8 2 | 391 99a gaad ) 39 a8 | aae
T et Tedl W et -Therd HiY- R TR €1 Sl € 1S9 T & el 9R W ael [ e o o Rt
TRTERTET ST fe - Te - WeTd Ik Wk gl aid~&9 i Gre 9 T 910l | ¥R <1 ¥ | T o S Sel-aqel
TS 9 % Bie-a2 F&T ad ILEH! FIL AL e A 998 A ot g3 e € S8 640 T 95a 19 |




Options:-

=1, Option ID :- 45,
= 2, Option ID :- 46,
= 3, Option ID :- 47,

= 4, Option ID :- 48,
Answer Given:- 4, Option ID : -48

Question ID:- 13

Frefefaa TeneT i UgeEt 3W UT IMUTRA U9 <Rl I Sifie

Tte H TS 3§ ge Tat & 18 § R g7 @ 2 | 351 990 gaad ) 39 98 | aae
i et el W el -therd -k TRE €1 S €4 39 MG o gEt SR W s QO e o o fedt
TERTET ST - Tre- T Wdid Bk Ueh HISLET- <% i g I T 91Ul § ¥R a1 ¥ | T o ote Siei-aqel
@S A\ F Ble-ae g&1 9 UvEH! wH e U 90e 1S o g1 Hed € S| 30 g = g9d | |

TS o foRT0l drere I Uerd U ShEl Bl STl © 2

(1) ™H

(2) @i

(3) wd

(4) HleA-tef

Options:-




=1, Option ID :- 49,
« 2, Option ID :- 50,
= 3, Option ID :- 51,

= 4, Option ID :- 52,
Answer Given:- 1, Option ID : -49

Question ID:- 14

Ffeiaa TenyT & UgsT SH UT enfid UyH i S SiaU

TiTer H sl YL g WOt o 419§ HEhudl g2 (e sigie | 39! S9ct Gied Rl 36 92 § dre
Y amelt Tedl W Yerd-therd ei- o TR €1 S € L3 & et SR W ae e e a off foRd
TERTE 1 A -Tre-| Uedid Bt U Hict Sq-4fhaht guier Ht 7 g § o 3 ® | T F ot SRl-awl
e A & Bro-ae g1 99 I i T EG) YA SR A i g1 fHerd 8 S A g =1 99d €
T & & BR W E
(1) e
(2) IR
(3) TemEme™
(4) e

Options:-




=1, Option ID :- 53,
= 2, Option ID :- 54,
= 3, Option ID :- 55,

= 4, Option ID :- 56,
Answer Given:- 3, Option ID : -55

Question ID:- 15

Freaferia TenyT ot ggent 39 UT SMUTd U9 Rl 3T eitiU ;

Tte | U G391 ge Tat & 919 ¥ e g7 3feqg aqie | 3H1 990 gaad ) 39 98 | aae
1 @it el W Tetd-Thetd Y- 4 TRE €1 S € | 39 & qEl 9% W e WA forerer o off e
AT 1 Wi —CUE—|1 Udid B T Hi! S &kt i | T4 il § 9 <a1 € | T o e Se-asl
G A\ & Bie-ds g& 9 IREH A 9 EE AT a9 S i g3 fHerd g S8 10 Td 95 98 | |
TMad I FUSE :
(1) e & Ja¥ g1 W
(2) TE & &
(3) TiTa % SfEU SR W
(4) T IH B R

Options:-




=1, Option ID :- 57,
= 2, Option ID :- 58,
= 3, Option ID :- 59,

= 4, Option ID :- 60,
Answer Given:- 2, Option ID : -58

Question ID:- 16

Tefafaa o fael 9fy aren ve =28 ¢ -
(1) =«

(2) IR=Eg

(%) HAHM

(4) TIome
Options:-

=1, Option ID :- 61,
= 2, Option ID :- 62,
= 3, Option ID :- 63,

« 4, Option ID :- 64,
Answer Given:- 2, Option ID : -62

Question ID:- 17




(1) warg
(2) TR
(3) del™
(4) OLHH
Options:-

=1, Option ID :- 65,
= 2, Option ID :- 66,
= 3, Option ID :- 67,

= 4, Option ID :- 68,
Answer Given:- 1, Option ID : -65

Question ID:- 18




Frefafes aom/agya veel § 16T I © -

(1) T4
(2) @HU-FM
(3) HE-H
(4)  STFE-3E
Options:-

=1, Option ID :- 69,
= 2, Option ID :- 70,
= 3, Option ID :- 71,

= 4, Option ID :- 72,
Answer Given:- 4, Option ID : -72

Question ID:- 19




ffafad 5 s/ ©
(1) TS99 51 A 51 Heh-31

(2) i fewE 7 <-sgw

(3) i fean = = Hh-ueH

(4) =T o = = wh-29
Options:-

=1, Option ID :- 73,
= 2, Option ID :- 74,
« 3, Option ID :- 75,

= 4, Option ID :- 76,
Answer Given:- 4, Option ID : -76

Question ID:- 20




Ffafas J o/ @

(1) H-JEuar=eh HerH
(2) Fe-TTe=geras® HaaH
(3) ThIE-YvIETHH HaAAMH
(4)

4)  HE-YYTEEE G

Options:-

=1, Option ID :- 77,
= 2, Option ID :- 78,
= 3, Option ID :- 79,

= 4, Option ID :- 80,
Answer Given:- 3, Option ID : -79

Subject : GA_Q21-Q30_TGTENG

Question ID:- 21




Consider the following statements regarding the International Women's Day-Week celebration by
the Ministry of Women and Child Development in India in 2022 ?

(a) The International Women’s Day-Week was celebrated from 15 to 8" March 2022 ?
(b) The Ministry launched “Stree Manoraksha Project”, in this week

(c) “Kanya Shiksha Pravesh Utsav” was launched in this week for enrollment of girl child (6 to
10 years) in primary education.

Select the correct answer from the codes given below :
(1) (a) and (b) only




IRd H g9 2022 H Higen 3R 9re fae™ w3ed g 79N T AdeE qigal fGaq-gwe & §64 |
FrefafEa a1 9 foa=mr +ifsu .

(a) S Higen feaq-qw@re, 01 9 08 Hr=, 2022 @ HAH1 741 |
(b) H3Merd N TH WwlE H Ol ween qiEsE S 1
(c) urafier foen | snfaemiad (6 9 10 9¥) & T & fau 39 g=iE § ‘=1 e gew 3a9a’ Sy

IERIREI
A= feu 770 e | gl A =9I S
(1) hEE (a) SR (b)
(2) =REE (b) ¥R ()
(3) A (a) R (c)
(4) T (a)
Options:-

=1, Option ID :- 81,
= 2, Option ID :- 82,
= 3, Option ID :- 83,

« 4, Option ID :- 84,
Answer Given:- 1, Option ID : -81

Question ID:- 22




Which Title/ Book has been selected for the Sahitya Akademi Award 2022 in Gujarati language ?

(1) Anahata
(2) Aranya

(3) Devipoojak
(4) Gher Jatan

TSI 9T H Wifecd STReHT GUERR, 2022 % fou feg sitde/qwie &1 == e mn € 2

(1) SFrEd
(2) A
(3) <t ot
(4) BRSO
Options:-

=1, Option ID :- 85,
= 2, Option ID :- 86,
= 3, Option ID :- 87,

= 4, Option ID :- 88,
Answer Given:- 4, Option ID : -88




Question ID:- 23

Which of the following historical monuments was built by the East India Company in India ?
(1) Thalassery fort, Kerala

(2) Bharatpur fort, Rajasthan
(3) Kanheri fort, Maharashtra
(4) Purana Qila, Delhi

s sfea FHl R vRa ° Tefafad ° 9 e tiaeiad 2 = o feezn e on 2
(1) groaresd =1 fora, Ha

(2) YIRAYE R Tohed], TS
(3) el I Tohell, HERTZ
(

™

4) U fope, feel

Options:-

=1, Option ID :- 89,
= 2, Option ID :- 90,
= 3, Option ID :- 91,

= 4, Option ID :- 92,
Answer Given:- 4, Option ID : -92




Question ID:- 24

Consider the following statements :

(a) The elected members of the Vidhan Sabha are part of the electoral college for the election of
the President

(b) The nominated members of the Rajya Sabha are not part/0f the electoral college for the
election of the President.

Choose the correct answer from the codes below :
(1) only (a) is correct

(2) only (b)is correct

(3) both (a) and (b) are correct

(4)

4) neither (a) and (b) is correct




Frefafas $aEf =R $ifen .

(a) Taummsn % faifa aee weafa & fat=m % fou feafEs dea & 5= 20 T
(b) TSI & HAHIG Hee Uufd & fai=e o fag far=es ded & 958 78 ald ¢ |

+i feU T e § & I H1 =TI hISTC
(1) *ad (a) G& &

(2) FIA (b) TE T

(3) (a) iR (b) ST Wl €

(4) < H Y wE TE T8

Options:-

=1, Option ID :- 93,
= 2, Option ID :- 94,
= 3, Option ID :- 95,

=« 4, Option ID :- 96,
Answer Given:- 3, Option ID: -95

Question ID:- 25




What is the task assigned to ASEEM, a digital platform created by the government of India ?
(1) To act as a meta database of people below the Poverty Line

(2) To actas a directory of skilled workforce and match the supply of skilled workforce with the
market

(3) To act as a tele-consultation mediator between doctors and Patients
(4) To act as an apprenticeship training portal for the unemployed youth registered on it

YT TR gR1 =T 7T fefsied wiew™ ‘o™’ (ASEEM) 21 371 %19 |id 31 § 2

(1) et & 9 == % @l o U el SREy %Y § i |

(2) Fue gl i TEE & 9 H HH HENIR SR 6 | FHa FHAlS i SYfd Rl SIFH
S

(3) SR 3N giisll o == Ueh ofl-shuciey Heaey o ®9 § e Il |

(4) 39 9IS W YSiEHT SSAR gaehl % foin weh uiveg fRe W oF 91l died & 'Y H w5

Options:-

=1, Option ID :- 97,

= 2, Option ID :- 98,
« 3, Option ID :- 99,
= 4, Option ID :- 100,




Answer Given:- 2, Option ID : -98

Question ID:- 26

In which region of India, a special “Opinion Pole” was conducted by the Union government in 1967
asking people to decide whether they wanted to be a part of Maharashtra or remain separate ?

(1) Gujarat

(2) Goa
(3) Bombay
(4) Daman

d % fm &3 § g WER 3R 1967 § U * iifafem wret’ e e fomd |t § T g T fE s
BRI % U &1 a1 F8d 8 A9al A WA= & ?

(1) T
(2) e
(3) @
(4) €HU
Options:-

=1, Option ID :- 101,
=« 2, Option ID :- 102,




= 3, Option ID :- 103,

= 4, Option ID :- 104,
Answer Given:- 4, Option ID : -104

Question ID:- 27

Consider the following statements :
(a) Oaks and Chestnuts are found in wet temperate type offorests.

(b) Wet temperate type of forests are found at high altittdesef about 3600 metres above the sea
level. |

(c) Wet temperate type of forests are a kind of montane forests in India.
Choose the correct answer from the codes below:

(1) only (a)

(2) only (a) and (b)

(3) only (a) and (¢)

(4) only (b) and (¢)




Frafafad wa 7 fa=r Fife

(a) 1% iR ==Ae T8 Yidre WehR o &1 H 910 S € |

(b) 37T ST YehK ok &9 HHE qe § @FTHI 3600 Hiel HW Al 98 W U S B
(c) 3T A Wb & 99 Rd H T YR o Jadrd 9 & |

i feu 70 e 9 9 9 =9I HIfS
(1) e (a)
(2) ad (a) S (b)
(3) A (a) 3R (c)
(4) e (b) AR (o)
Options:-

=1, Option ID :- 105,
« 2, Option ID :- 106,
= 3, Option ID :- 107,

= 4, Option ID :- 108,
Answer Given:- 4, Option ID : -108

Question ID:- 28




Who among the following is the Tenzing Norgay National Adventure Award winner of 2021 for
Water Adventure ?

(1) Sreeja Akula

(2) Sagar Kailas Ovhalkar

(3) Shubham Dhananjay Vanmali
(4) Omprakash Mitharval

el Tga=R o fau 2021 & dafs A0l A9Fe ted=r 3R fAefafag § 9 fraa st ?

(1) s sigpen

(2) TR FAH ATTEeHT

(3) YHH gHSd AU

(4)  SAHYHN FHuET
Options:-

«1, Option ID :- 109,
= 2, Option ID :- 110,
« 3, Option ID :- 111,

= 4, Option ID :- 112,
Answer Given:- 2, Option ID : -110




Question ID:- 29

Match the fish species given in List - I with their type of food habits in pond in List - 1.

List -1 List - IT
(Fish species) (Type of food habits)
(A) Catla () Bottom feeders
(B) Rohu (I) Feed on the weeéds
(€) Mrigal and Common carp (IIT) Surface-feeders
(D) Grass Carp (IV) Feed imn.the middle zone

Select the correct answer using the codes given below

(1) (A1), (B)-(IV), (O)-(I1), (D)-(I)
(2)  (A)-(D), (B)-(I), (O)-(IV), (D)-(IT)
(3)  (A)-(LL), (B)~(LV), (O)- (), (D)-(1D)
(4)  (A-IV), (B)-(D), (O)-(I1), (D)-(H)




Tt - 14 &1 T8 Joel i Feiifadl =i e it - [T H <1 78 e § 391 9TsH Fatfl STedl & JHR +

HiYg aﬁfrrxq :
Tt - 1 et - 11

( TSt Sl YSITid ) ( | Hael 37ed o UahiT )
(A) hdel () O "4 (dieq ey )
(B) & (I) 3997 9 @ (FIE 3 &ied)
(C) Tora i &iee & (I) oY GoeE (HURY hisy)
(D) 7T T (Iv) "=mes@Ham (we e fg fafea &iF)
I T8U 71T e &1 T A g Hal I H1 FFT Hifa
(1) (A)-1), (B)-(IV), (O)-(1I), (D)-(II)
(2)  (A)-(I), (B)-(IIT), (O)-(IV), (D)-(II)
(3)  (A)-(ID), (B)-(IV), (O)-(D), (D)-@)
(4)  (A)-(1V), (B)-(I), (O)-(1L), (P)-(H)
Options:-

«1, Option ID :- 113,
= 2, Option ID :- 114,
=« 3, Option ID :- 115,

= 4, Option ID :- 116,
Answer Given:- 4, Option ID : -116




Question ID:- 30

Which of the following examples most appropriately represents the ‘Speed’ characteristic of the
computer ?

(1) Calculation and generation of salary slips of thousands of employees of an organization.
(2) Result of division of any two numbers upto 10 decimal points.

(3) Performing long and complex calculations with the sam@speed and accuracy from the start
till the end.,

(4) At one moment one can use the computer to prepare a letter document and in the next
moment one may play music or print a documéent.

frefafes § T M |1 38R FEgE Hi A EfE (Speed) T AR it Haifuw g wlE I @@ T 2
(1) Tl H71e & &R FHEME] &' agq i TUE1 FHIA SR S0 T2 ST T |

(2) 10 SHEEIF qeh hi el al QS H HEA |

(3) SIRY H fa wF el IR Sfect Toret i guE e 2w ufwrsa |

(4)

2

4)  UH G H HEHI H AT UF UF T H BA AR TR &0 3H T HAG S A B SegHe i
HLA |
Options:-

«1, Option ID :- 117,




= 2, Option ID :- 118,
« 3, Option ID :- 119,

= 4, Option ID :- 120,
Answer Given:- 4, Option ID : -120

Subject : RA _Q31-Q35_TGTENG

Question ID:- 31

The given question is based on the following information

P#(Q means ‘P is the husband of Q" ;

P@Q means ‘P is the wife of O’;

P£Q means ‘P is the father of Q’;

P*Q means ‘P is the daughter of Q.

[f expression ‘P#R*Q@TELV’, is true thert whicly of the following is definitely true ?

(1) “Vis sister of ‘P".

2) 'R’ is daughter-in-law of “T".

3) ‘Q is grandmother of ‘W,
)

4 ‘P’ is son-in-law of ‘T’

(
(
(




e o weq Frerfafea SR 9 emenfE ©

PEQF AFE-P, QH Ufd &;

P@Q # 34 - P, Q! TFI B ;

PEQ &1 31 §- P, Q &1 fumll B ;

PQ & 3 §-P,Q & TH T

7fe oo ‘PER*QATEV T &, Al Fefafea d 9 s Asa su 9 o © 2
(1) V,Pal &¢I

(2) R, T gIaY g

(3) Q,V e H 2

(4) P, TH THE &I
Options:-

=1, Option ID :- 121,
= 2, Option ID :- 122,
=« 3, Option ID :- 123,

« 4, Option ID :- 124,
Answer Given:- 4, Option ID : -124

Question ID:- 32




Three statements showing relationships have been given, which are followed by two conclusions I
and II. Assuming that the given statements are true, find out which of the conclusions is/are

definitely true

Statements : 1 =R
2. R<W
3.  M=W

Conclusions : L M>R
II. L<M

(1) Only Lis true

(2) Only II is true

(3) BothIand II are true

(4) Neither I nor Il is true




T ey 29 9 A7 e fau o § s o <) s 1 eI 11 fe e #1 9w mee gu e few e sem
el €, 7€ 719 Hifen f s wr/4 fepd fHfveg w9 9 96 8/8 2

HI : 1. IL<R
2. R<W
3. MW

ferg: 1L M>R
. L<M

(1) oo Fepd 158 21

(2) Fae frsmd o=@ F

(3) T 1 ¥R 11 ST Tl §

(4) < freRel § 9 %E of wEl 6 R

Options:-

=1, Option ID :- 125,
= 2, Option ID :- 126,
= 3, Option ID :- 127,

= 4, Option ID :- 128,
Answer Given:- 3, Option ID : -127

Question ID:- 33




Eight friends D, E, F, G, ], K, L and M are sitting around a circle, all at equal distance, facing
towards the center. ‘E’ is fourth to the right of ‘D", who is third to the right of 'F". “]" and ‘M are
not sitting together. Two people sit in between ‘D" and ‘F’. ‘K’ and ‘F’ are not neighbours. ‘E’ is
exact right of ‘K’. Two persons are in between ‘D’ and ‘K’. ‘L’ is immediate right of ‘D’. ‘G’ is third
to left of ‘M’. Who is opposite to ‘F’ ?

(1)

®)
<

(2) G
3) J
(4) L

3 A D, E, F,G, ], K, L 3IRM T 51 & FRWHARTT % $a ! 3R §g ek I9H gl Wad 2 | 'E, ‘D’
o g ST Y T W 931§ S F % SR T T W R ) M U Y TR SIS B D SR F
FAF Y AT AS | K ARF w2 TE8E | VE, ‘K F faegd g @R ® | D SiRK F g S a2
‘L, "D’ F THeH TR SR ¥ 1 G, M AR ST 39 A T W B F % W i §e1 § 2

(1) M
(2) G
(3) J

(4) L

Options:-




=1, Option ID :- 129,
« 2, Option ID :- 130,
= 3, Option ID :- 131,

= 4, Option ID :- 132,
Answer Given:- 4, Option ID

1 =132

Question ID:- 34




Three statements are given followed by three conclusions I, II, and III. You have to take these
statements to be true, even if they seem to be at variance from commonly known facts. Decide
which of the given conclusions logically follow(s) from the given statements ?

Statements :

1.  All books are papers

2. All pens are papers

3.  All pencils are pens
Conclusions :

L. All pencils are papers
II.  Some pencils are books
III. Some papers are pencils

(1) Only conclusion I follows

(2) Only conclusions I and II follows
(3) Only conclusions I and 1T follows
(4) Only conclusions II and TII follows




= 9 FyF feu o ¥ f9es 9 9 fepd [ 1 eiR I feuw o €1 21t 39 YAl S W8l 9§ =
qra: 3d 92 9 s = 9 80 98 v sifee 6 e /e fou o sl o 'y o
repeTar 8/2 2

h¥H :

1. T T e 2

2. WA T HIIEN

3. 4t dfge 9=

ferd

I [ dfge s €

I %o U9 g o

[[I. &9 w7 9fee €|

(1) e Frery 11 Ferera 21

(2) Had FreRd 1SR 1 e & |
(3) Fad Fr=pd [ R 111 e &
(4) Fae fsmd 11 2R 111 feerd €1

Options:-
=1, Option ID :- 133,




= 2, Option ID :- 134,
« 3, Option ID :- 135,

= 4, Option ID :- 136,
Answer Given:- 2, Option ID : -134

Question ID:- 35







Choose the Venn diagram from the options which represent the correct relationship among the
given classes :

Authors, Professors, Men







feu 7o faered] # 9 U9 99 I & 999 Hifeu 51 f8u 70 99 & == 98t G4 ] g9l &l
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Options:-

« 4, Option ID :- 140,
Answer Given:- 4, Option ID : -140

Subject : CL_Q36-Q40_TGTENG

Question ID:- 36

CPU stands for ;

(1)

2

(2)
(3)
(4)

Control Processing Unit

Central Processing Unit
Centralized Programming Unit
Computing & Programming Unit




g (CPU) =1 51 2 -

(1) e wrfen 9fe

(2) F=a gaigT g

(3) WEaEsE g g

(4) HrfeT U gmfET g
Options:-

=1, Option ID :- 141,
= 2, Option ID :- 142,
= 3, Option ID :- 143,

= 4, Option ID :- 144,
Answer Given:- 2, Option ID : -142

Question ID:- 37

Which of the following is a popular example of Operating Systems ?
(1) Microsoft Edge

(2) Microsoft Office

(3) Microsoft Outlook

(4)

4 Microsoft Windows




frferfes 5 & ey foen = T Sl SR SR wme ?
(1) HIEHER TS

(2) HEHHTR AR

(3) TG TS

(4) T e

Options:-

«1, Option ID :- 145,

= 2, Option ID :- 146,

= 3, Option ID :- 147,

= 4, Option ID :- 148,
Answer Given:- 2, Option ID : -146

Question ID:- 38

These are the type of programs,/we/generally download onto our computer system, disguised as
useful and free software, but‘take.control of our computer systems to damage our data.

(1) Virus
(2) Spam
(3) Worm
(4) Trojan




3 30 IHR F 9rH € 9 o0 U A oI 9w aTRam F B H o7 Frepet fonen | SEAeE € g
3 B Frerey fomen o1 FRieo e 29N SR 1 T TR @
(1) @rPR™ (Virus)

(2) ¥ (Spam)

(3) @M (Worm)

(4) 2 (Trojan)
Options:-

=1, Option ID :- 149,
=« 2, Option ID :- 150,
=« 3, Option ID :- 151,

= 4, Option ID :- 152,
Answer Given:- 4, Option ID : -152

Question ID:- 39




McAfee Plus is an example of :
(1) Trojan software

(2) Anti-virus software

(3) Application software

(4)

4 ngramnﬁng Language

HHF =TH I TH IS ¢ |
(1) 2o HmRe

(2) T Ay HiREE

(3) TUEAHIH BTt

(4) gt Evas

Options:-

=1, Option ID :- 153,
= 2, Option ID :- 154,
= 3, Option ID :- 155,

= 4, Option ID :- 156,
Answer Given:- 1, Option ID : -153

Question ID:- 40




Which of the following allows a user to send an additional file along with an e-mail ?
(1) «e

(2) bce
(3) draft
(4) attachment

fr=fafeg 8 9 goea &1 ©F 300 % WY T ATaien FEe 997 s/ eIt i Sa1 8 2

(1) cc

(2) bcc

(3) draft

(4) attachment
Options:-

«1, Option ID :- 157,
= 2, Option ID :- 158,
=« 3, Option ID :- 159,

= 4, Option ID :- 160,
Answer Given:- 2, Option ID : -158

Subject : UL_Q41-Q50_TGTENG




Question ID:- 41

Human being 1s not born with :
(1) reflex

(2) wvalues
(3) response
(4) instinct
He ferger |1 Ue e 21§ 2
(1) fded
(2) A
(3) SEA
(4) HA-HgH
Options:-

=1, Option ID :- 161,
= 2, Option ID :- 162,
=« 3, Option ID :- 163,

= 4, Option ID :- 164,
Answer Given:- 2, Option ID : -162




Question ID:- 42

Sunil is a class VII student. His parents feel that there is a non-inclusive culture in the school as
their ward faces certain restrictions. Nearby schools are also fe]]owing more or less stmilar trend.
For the betterment of sunil, his parents should :

(1) change the school

(2) prefer homeschooling

(3) advise him to adjust in the school
(4) arrange home tuition for him

e el VILH BT © | 36 SHYITF Te Fogq w32q © [ [qened § TR-Jreeh J&h € FifF 76
=1 ] hiaqg Yfasiel s WHAT HET IS ST % e off o @ wafh @ wen w5 ® € g
&I 9gdil & fou, 39 fvarasi &1 = SE =fen ?

(1) oo aga < =nfsu |

2) PR W e (B9 ThfdT) m mufie & =i
) 39 fomre | warEifsa 2 & Hag 3 1o |
4) IHF U S U S T HETEIT AT A8 |

Options:-
=1, Option ID :- 165,




= 2, Option ID :- 166,
= 3, Option ID :- 167,

= 4, Option ID :- 168,
Answer Given:- 3, Option ID : -167

Question ID:- 43

Among adolescents, the sense of right and wrong is mostly asseciated with :
(1) morality

(2) reflective thinking

(3) sympathy

(4) scientific aptitude

foreidl o Wl oI Totq & HHe gead e daftd St €2

(1) fderar 4

(2) wfdedt fa=<= &
(3) werid

(4) AR sifefa |

Options:-




=1, Option ID :- 169,
« 2, Option ID :- 170,
= 3, Option ID :- 171,

= 4, Option ID :- 172,
Answer Given:- 2, Option ID : -170

Question ID:- 44

Which one of the following is developed when a child betomés adolescent ?
(1) intuitive thought

(2) symbolic thought

(3) egocentric thought

(4) inductive thought

T8 ek aTetes [ &9 Il & ol Fefaiaa § 9 foewen fasem g 6 2
(1) eF=ieeil famm

(2) YdfehcHs e

(3) SAeHhisd fera

(4) SFTHAHS Ta=H




Options:-

=1, Option ID :- 173,
= 2, Option ID :- 174,
= 3, Option ID :- 175,

= 4, Option ID :- 176,
Answer Given:- 1, Option ID : -173

Question ID:- 45

A teacher desires to explore the subjective experience oftadolescent students on the topic “The
Days of Examinations’. On the part of the adolescent students, the teacher should expect :

(1) reflective thinking
(2) intuitive thinking
(3) symbolic thinking
(4) self centric thinking




T 799 qden % feu’ faum W foReiR Bl & favareas Sy w1 A el e | STees faReiR
BET Y fFTFT 19T Y 2

(1) fdadl == =t

(2) sr=ael fa=

(3) YdreRTeAss fa= ol

(4) sTeehf=d fa=m =it

Options:-

=1, Option ID :- 177,
= 2, Option ID :- 178,
=« 3, Option ID :- 179,

= 4, Option ID :- 180,
Answer Given:- 2, Option ID : -178

Question ID:- 46

Motor development takes place in :

(1) Fixed order but not in a time bound frame

)  Fixed order and within a specific time frame
) Randomly and not in a time bound frame

) Randomly but within a specific time frame

&7 B |

(
(
(4




ek forshTd Bidl @ :

)y T7ad e H g TR wHTEs FEEen | |
2) fraa % o IR s ffvem gma & o)
3)

)

Agfese Tich ¥ 3 Teh guaas aeq1 § &l |
Aefeges i 9 fohd Tk Ffvsd w9a & ofiaw

Options:-

=1, Option ID :- 181,
= 2, Option ID :- 182,
= 3, Option ID :- 183,

= 4, Option ID :- 184,
Answer Given:- 1, Option ID : -181

Question ID:- 47




In the context of kohlberg theory of moral development, which one of the following is an incorrect
statement ?

(1) Morality is based on rewards and self-interest in pre-conventional stage.
(2) Morality is externally controlled in pre-conventional stage.

(3) Adherence to social rules gains precedence in post-conventional stage.
(4)

4 Reascrﬁng based on notions and prin{:iples of mnrality characterize pﬂst-cc}nvenﬁonal stage.

sHraer o Afas fasm F fagra & ded 8, frfafes #§ & &0 o weum ot 78 §2
(1) S J8- TR T W ORI AR -BE 92 enfid gni #

(2) IE-TERET W1 W Al s 89 9 EEeEd g

(3) TYH-TRERFTT &R W HHISH Hedi e e i grafigenar g 8 |

(4) RS W 2T qeh iR Al & fagra IvE- g T sl e a2

Options:-

=1, Option ID :- 185,
= 2, Option ID :- 186,
=« 3, Option ID :- 187,

= 4, Option ID :- 188,
Answer Given:- 3, Option ID : -187




Question ID:- 48

In the context of human development, a researcher intends to explore how do coping skills develop

among students at different levels of schooling as their age increases. The researcher can explore
this by adopting :

(1) Cross-sectional design

(2) Quasi-experimental design
(3) Lengitudinal design
(4)

4) Experimental design

g fasm o HeY § T ATHuMaE 98 @rsl KL ARl ¢ 6 Bl i g 984 & qy-91y faeed &
fafm @ W e # faam wwre 1 fagem fmm wer & €2 srdure frg sifisres =it st
I WISl L Hhell & 2

(1) sruey uf=ag sifusmey

Options:-
«1, Option ID :- 189,




= 2, Option ID :- 190,
=« 3, Option ID :- 191,

= 4, Option ID :- 192,
Answer Given:- 3, Option ID : -191

Question ID:- 49

Which one of the fcr]]cuwing is an incorrect statement ?
(1) The term maturation is synonym to growth.

Development refers to physiological maturation.

O B (N

(
(
(

)
)  Growth causes quantitative changes in the bady.
)

4) Development and maturation are the progess and product of growth.

freafafeas § 9 =0 @ Fm g8 = 97

(1) gftgaem vsg gfg %1 THrAF 9

(2) Tamm =1 219 wifie aftogaq 4 B

(3) dfg d IR T ArEneas uRad 2d 2 |

(4) Towm v yRuea gig =t gfrn i e 2

Options:-




=1, Option ID :- 193,
= 2, Option ID :- 194,
=« 3, Option ID :- 195,

= 4, Option ID :- 196,
Answer Given:- 1, Option ID : -193

Question ID:- 50

In the context of development, which one of the following is.ificorrect ?
Developmental changes are :

(1) Orderly

2 Cyclical

4

(2)
(3) Progressive
(4) Coherent




foorE o a9 | fr=fafad 9 | &F 91 98 78l & 2
T gitads 2 €

e fed

Heh1d

IR

HH

—
ot
el

= 9 I-J

Options:-

=1, Option ID :- 197,
= 2, Option ID :- 198,
= 3, Option ID :- 199,

= 4, Option ID :- 200,
Answer Given:- 2, Option ID : -198

Subject : UTL_Q51-Q65_TGTENG

Question ID:- 51




Which activity of the fcn]lowing 1s not encc:uraged in constructivist classrooms ?
(1) Project work

(2) Field Trips

(3) Demonstration
(4)

4 Class discussion

TEAETE] e Hell | i § et = veafed TRl foran s e?

(1) i =

(2) &5 W W

(3) T=EH

(4) e H ==
Options:-

=1, Option ID :- 201,
= 2, Option ID :- 202,
« 3, Option ID :- 203,

= 4, Option ID :- 204,
Answer Given:- 4, Option ID : -204




Question ID:- 52

Why should we provide more teaching learning materials for children studying in primary
schools ?

Children are at :

(1) Formal operations stage

(2) Pre operations stage
(3) Concrete operations stage
(4) Abstract formation stage

& M Thel § Ug W D6 & A - = suers It Jifey ?

(1) 3= s T W E

(2) YA-FMEHF WL W E

(3) Hi-HEHE W W E

(4) T GEAER W
Options:-

«1, Option ID :- 205,
= 2, Option ID :- 206,




= 3, Option ID :- 207,

« 4, Option ID :- 208,
Answer Given:- 3, Option ID : -207

Question ID:- 53

Which one of the following is not a characteristic of Discovery method ?
(1) It develops scientific and critical attitude in the students:
It provides little training to prepare them for life.

W N

(
(
(

)
) It makes learning more effective and permanent,
)

4 It fosters the art of obsering keenly.

Fr=fefed ° | == sramumers fafy =t u favree 781 2

(1) &% BE 8 S A e, et fasfaa wd g1
(2) I 3% S & feu TaR 7 & wgd % IR YeH w ¢ |
(3) = sifermy 1 siferes gl eiR Tt S 2 )

(4) I 4 ¥ Ead H F FHAl F Greaed Hl ¢ |

2

Options:-
«1, Option ID :- 209,




= 2, Option ID :- 210,
= 3, Option ID :- 211,

= 4, Option ID :- 212,
Answer Given:- 2, Option ID : -210

Question ID:- 54

Which one of the following is not a way to strengthen imitations ?
(1) Providing direct incentives
2

(2)
(3) Showing the model in which one is punished, for the deviant behaviour
(4)

Satisfying consequences

Vicarious reinforcement

freafafea & & 0 ST &1 Yge FONGET aiH Tel 8 2

(1) 9o&l JIeHre ol

(2) R | gae g

(3) TEr Hiew femrn foad frdt it S5 Faem =R & fau <feq frmar s &
(4) wiaiages e

Options:-




=1, Option ID :- 213,
= 2, Option ID :- 214,
=« 3, Option ID :- 215,

= 4, Option ID :- 216,
Answer Given:- 2, Option ID : -214

Question ID:- 55

Which one aspect of the curriculum out of the following is not'of much use for teachers ?
(1) What to teach ?

(2) How to teach ?

(3) How to evaluate ?

(4)

4) How to preserve environment ?

fr=fafad § 9 urea=l # %A 9 uge, S99 & fau Ay seEri =8 € ?
(1) =1 981 & ?

) HY UGHIE ?

3) oAl HY HEA 2

4)  STATERYT T FHH G T 2

2

(
(
(




Options:-

=1, Option ID :- 217,
=« 2, Option ID :- 218,
= 3, Option ID :- 219,

= 4, Option ID :- 220,
Answer Given:- 4, Option ID : -220

Question ID:- 56

Which of the following statements is incorrect about Comipetency Based Education ?
(1) All competencies are not achievable.

(2) In competency based teaching the teacher mseswariety of TLMs and conducts activities.
(3) Competencies can be evaluated. |
(4)

4 Competencies are achieved at thedevel of mastery.




T&TT TR foen & 9 H P 91 wud TE T € 2
(1) Tft ZeTaTd 9T 3 A e el 2

(2) e euiRa fosmn o, svenues fafi= R =l foreror sifuem fafes (21 war wa) =1 92 e @
LRINERIE TR

(3) TeAMST 1 Hodih {1 S Hohdl & |

(4) Q&I WU % T R 9 fRE S

Options:-

=1, Option ID :- 221,
= 2, Option ID :- 222,
=« 3, Option ID :- 223,

= 4, Option ID :- 224,
Answer Given:- 4, Option ID : -224

Question ID:- 57




Which one of the following statements is correct about language learning ?
(1) If english is to be learned well mastery over mother-tongue is not necessory.
Thinking in a foreign language is independent of thinking in mother-tongue.

(S B LS

(
(
(4

)
) Three language formula may create complex problems if implemented.
)

Spoken English is found better amongst those who follow_énglish medium since beginning
while Written English is found to be better amongst those, who study english after primary
classes.

T AT 3 R H P G YT Hel © 2

(1) Afe SIS = =8t T ¥ HiE 1 € o gl g Yeioe 6w T8 ¢ |

(2) Tt fageft vron & Hrem Agymen § gies SaEds S g |

(3) afg Bt g3 # @n] fRn S S8 wieerdrd Ut @ gadr © |

(4) YBRAE 9 SIS HIsAH 9 g giell i S|k SIS dga U Sl © St WA wesii & 9%

2

Options:-

=1, Option ID :- 225,
= 2, Option ID :- 226,
=« 3, Option ID :- 227,




= 4, Option ID :- 228,
Answer Given:- 1, Option ID : -225

Question ID:- 58

Which one of the following is not a weakness of ‘Experiential learning’?
(1) Un-economic approach

(2) Ignoring social aspects
(3) Learner centred approach
(4) Non predictability of learning outcomes

fr=fafad § 9 &0 ' srvares sfarm’ it ke T8l 8 2

(2) HHEITSE TS i 9T

(3) AferTHR Shfmd SUFH

(4) AT QROTH] ST TSI T T G
Options:-

=1, Option ID :- 229,
=« 2, Option ID :- 230,




= 3, Option ID :- 231,

= 4, Option ID :- 232,
Answer Given:- 3, Option ID : -231

Question ID:- 59

Qualitative data can be best analyzed using :
(1) Existing database

(2) Case studies
(3) Surveys
(4) Questionnaires
1 FART Fleh U SRI.F) Faid favermo foean =1 9% |
(1) =69 SEeE
(2) SAfKET T
(3) Hd&
(4) gYATEA!
Options:-

=1, Option ID :- 233,




= 2, Option ID :- 234,
= 3, Option ID :- 235,

= 4, Option ID :- 236,
Answer Given:- 2, Option ID : -234

Question ID:- 60

Standardization of a test ensures :

(1) Norms

(2) Reliability

(3) Objectivity

(4) Validity

Tordt TEieTor &1 HHIE
(1) HIHEUS

(2) TavswHED

(3) EEfsedl

(4) A

Options:-

gfv=a & gl




=1, Option ID :- 237,
« 2, Option ID :- 238,
=« 3, Option ID :- 239,

= 4, Option ID :- 240,
Answer Given:- 1, Option ID : -237

Question ID:- 61

What is not the purpose of ‘assessment of learning’ ?
(1) Planning for remedial teaching

(2) Making ability groupings
(3) Declaring ranks of students
(4)

4 Promoting students to next grade

‘saferTs % SeReR | W WS o e a2
(1) IYIRIeHeR Toern & fagarsHr =@
(2) AFE HHE S

(3) Ternfef=i =1 Y =ifi e

(4) Ternfoai =1 o7Tel U< | UI=1d il




Options:-
=1, Option ID :- 241,

= 2, Option ID :- 242,
= 3, Option ID :- 243,

= 4, Option ID :- 244,
Answer Given:- 3, Option ID : -243

Question ID:- 62

In ‘assessment for learning’, providing effective feedback te’students the teacher must avoid the

following :

(1) Accurate descriptive statements about studénts performance
(2) Delay in providing feedback verbal or written

(3) Guidance on how to improve

(4) Providing achievable goals/targets'fo students




‘SAfT o foTg steRe’ H, TernfeiEl ol arEt wiess YeH e & fau steArdes i ey a=m =ney ?
(1) BB % HE-TTET & 9 H Hel foeueas %

(2) HAifEs A1 fafed wigd® o | g e

(3) e yepr guw T s, 39 9§ "ri-fAeeH o

(4) BFEI Rl It ARF &5 Y Al

Options:-

=1, Option ID :- 245,
= 2, Option ID :- 246,
=« 3, Option ID :- 247,

= 4, Option ID :- 248,
Answer Given:- 1, Option ID : -245

Question ID:- 63

Analytic synthetic method would be must suitable for teaching, which of the following topics in
Mathematics, to class VIII studens :

(1) A geometrical theorem

(2) A problem related to profit and loss
(3) A problem related to quadratic equation
(4) A problem about area of cylinder




HT ATS & B i N0 & F=fafEd § | %A | faui o1 9gr § fovervo-gyeryy fafy Feifees sugsw
BT 2

(2) gt gesh gem
(3) U (FEmsfesh) HHiH Hedl wHE
(4) & % GAFA el qHE

Options:-

«1, Option ID :- 249,
= 2, Option ID :- 250,
=« 3, Option ID :- 251,

= 4, Option ID :- 252,
Answer Given:- 1, Option ID : -249

Question ID:- 64




A teacher gives 7-8 sentences in a jumbled way and asks students to construct a story. Which
educational objective she/he is testing ?
(1) Knowledge

2 C 0111prehension

(2)
(3) Application
(4)

4) Synthesis

ek STRATYS Ueh STeI% 7-8 9 <l § 3R O] § ThigieH| o1 o fal #8dl ¢ | 98 Ty Sifeer 359
1 I T BT & 7

(1) &M

(2) ™

(3) STIHEM

(4)  HIeIHo
Options:-

«1, Option ID :- 253,
= 2, Option ID :- 254,
=« 3, Option ID :- 255,
= 4, Option ID :- 256,




Answer Given:- 3, Option ID : -255

Question ID:- 65

Classroom discipline should be oriented towards :
(1)  Self direction
(2) Social conformity

(3) Personal and social development
(4)

Acceptable classroom behaviour

e ST I B ARy |

(1) w-fdem

(2) HHISR HHTEIURT

(3) wafFms iR gmfse faswm

(4) EHH HE TR
Options:-

=1, Option ID :- 257,
= 2, Option ID :- 258,
=« 3, Option ID :- 259,




= 4, Option ID :- 260,
Answer Given:- 3, Option ID : -259

Subject : CCLE_Q66-Q80_TGTENG

Question ID:- 66

Which one of the fr}]JDwing is a correct statement ?

(1)
(2)
(3)

(4)

Diversity as a feature, makes a group vulnerable and sneaksiit at the risks of social exclusion.
Diversity in any social group has dimensions of disabilities and capabilities.

RTE Act, 2009 was enacted to promote the agenda ofvinclusive education exclusively in the
context of disability.

A group of diverse people must have disabled people only than the group shows diversity.

Frefefed 5 | & |1 YA |8t 87
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Options:-

=1, Option ID :- 261,
= 2, Option ID :- 262,
=« 3, Option ID :- 263,

= 4, Option ID :- 264,
Answer Given:- 2, Option ID : -262

Question ID:- 67

According to Rights of Persons with Disabilities Act, 2016 there shall be a provision of free education,
as a right, for children with benchmark visibility betiwéen the age group of :

(

ey

6-14 years

]

)

) 6-16 years
) 6-18 years
)  6-21 years

2

(
(
(4




fesaims Sty stfufEs, 2016 & ITER f7E 31/ =91 & d9nrs [. 36 a 9= & g .90
Torert & siferRR <A1 grEemE fehan 121 @ 2

(1) 6-14 =
(2) 6-16 ad
(3) 6-18 =
(4) 6-21 T
Options:-

=1, Option ID :- 265,
= 2, Option ID :- 266,
=« 3, Option ID :- 267,

= 4, Option ID :- 268,
Answer Given:- 3, Option ID : -267

Question ID:- 68




Which one of the following case needs counselling ?
A student who has ;

(1) to face stream selection after class X.

(2) mistakenly opted for science stream at senior secondary level and now wants to change the
stream.

(3) failed in class X.

(4) opted science in class XI but is not aware how to use.different learning resources ?

frafafed | | forg fafa d§ oot =t sTavasa 2l e 2
s famnef -
(1) o/ wan-x & =g foudi (M) H99 wE el

(2) Torm afte meafos wR w Tad 3 faem fava o 97 fomn § oiv o9 97 o8 sIea =ea 2

(3) S HF-XH ST & T Bl

(4) Tor s X1 H fomm foua =l g1 € Tohq o7 98 =& Sial 8 ok fafv= sifermy wnei =1 ford geR
T fomen S € 2

Options:-

«1, Option ID :- 269,
= 2, Option ID :- 270,




= 3, Option ID :- 271,

= 4, Option ID :- 272,
Answer Given:- 4, Option ID : -272

Question ID:- 69

Mental health cannot be conceptualized as :
(1) maturity

(2) instinct
(3) resilience
(4)

4 emotion

A = & 59 B9 5 Susrdiento T8 foran =1 9 8 2

(1) gftgerae

(2) T YghH

(3) HHeA™ Siferd

(4) HAYE
Options:-

=1, Option ID :- 273,




= 2, Option ID :- 274,
=« 3, Option ID :- 275,

= 4, Option ID :- 276,
Answer Given:- 2, Option ID : -274

Question ID:- 70

In school library, for secondary school students, which one of the following may be irrelevant ?
(1) Picture books

(2) Year books

(3) Ilustrated dictionary

(4)

4) Encyclopaedia

Thel JEeRTad | At famerd o fwanfesl + fou fa=fafed 5 9 S0 @ g 78 € 2
(1) T e

(2) =t gk
(3) W wsssmm
(4) TaveshYl

Options:-




=1, Option ID :- 277,
= 2, Option ID :- 278,
=« 3, Option ID :- 279,

= 4, Option ID :- 280,
Answer Given:- 1, Option ID : -277

Question ID:- 71

Which one of the following is not an example of ‘community™as a learning resource’ ?
(1) Doctor giving lecture to school students on health and Hygiene
Sport person giving lecture to school students, ofy sportsman spirit

W N

(
(
(4

)
) Police cop giving lecture to school students on law and order
) School principal giving lecture to schoel students on moral values

frafafaa § 9 =9 1 U frmd 9eE F B9 § 99e’ o SeR 96 8 2
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Options:-

=1, Option ID :- 281,
=« 2, Option ID :- 282,
= 3, Option ID :- 283,

= 4, Option ID :- 284,
Answer Given:- 4, Option ID : -284

Question ID:- 72

Which one of the fmﬂowmg combinations lists the characteristics of teacher as a mentor ?
i) Knowledge master

i) Controller

(
(
(iii) Trustworthy counsellor
(iv) Desiring welfare

(

v) Evaluator

(1) (i), (iil) and (iv)

(2) (i), (i), (iii) and (iv)
(3) (1) (i), (iv) and (v)
(4) () (1), (iii) and (v)




et § | 9 W1 U WiHe S1AT9s I U 96 T8 (T=) % E9 T iR i § 2
) FH ISR

(1) (@) (i) T (i)
(2) (i) (i), (i) T (iv)
(3) () (i), (v) T (v)
(4) (), (i), (i) T (v)
Options:-

=1, Option ID :- 285,
= 2, Option ID :- 286,
=« 3, Option ID :- 287,

= 4, Option ID :- 288,
Answer Given:- 3, Option ID : -287

Question ID:- 73




A teacher with good leadership ability is able to :
develop toppers among learners.

change slow learners into fast learners.

get the best ratings from his students.

(1)
(2)
(3)
(4) Transform his/her learner into good beings.

U ST g TNl el foerd 9ed

(1) sfermediel § ¥ 999 9 H |

(2) ™ HiE arell i dst i | dies e s6E )

(3) &9 BEI H Awdd Avit () gH Hi

(4) 9 AferTHERIRAl =l =T HHGEAT ATl GiEd T el |

Options:-

=1, Option ID :- 289,
= 2, Option ID :- 290,
= 3, Option ID :- 291,

= 4, Option ID :- 292,
Answer Given:- 4, Option ID : -292




Question ID:- 74

Who among the following will be most suitable for vision building for school development ?
(1) Social Worker

(2) School Inspector

(3) Parents and teachers
(4)

4) A philosopher

e fasrg 3q gfie fmio § =9 9 | 219 gaifus suggadm ?
(1) HHIfSe FrEEd

(2) e FgE

(3) wfvras IR fams
(4) UF RIS
Options:-

=1, Option ID :- 293,
= 2, Option ID :- 294,
= 3, Option ID :- 295,

= 4, Option ID :- 296,
Answer Given:- 3, Option ID : -295




Question ID:- 75

A least important factor for framing a school time - table can be :
(1) Director of school education
(2) School bus conductor

(3) Village Panchayat
(4)

4 School Alumini Association

Thel THA HIT §9F H §aH w0 HeceqUl R HIE Bl HA ¢ 2
(1) e faen feems

(2) TP TH FH Fregl

(3) ie HEE

(4) Tpal & YUH BEI kI GRES

Options:-

=1, Option ID :- 297,
« 2, Option ID :- 298,
= 3, Option ID :- 299,

= 4, Option ID :- 300,
Answer Given:- 3, Option ID : -299




Question ID:- 76

Which one of the following may not be of much significance in the process of school teacher
development ?

(1) Parent Teacher Association

(2) Inservice Teacher Programmes
(3) A motivated school principal
(4) Family background of teachers

whel Toieren Tamme =1 ufsran |, 91 § 9 [ U 3)19% Hecd &1 81 ol §ehdl § 2
(1) eAfuvmEes foeres wfafq

(2) Herereld ToeTR FwH

(3) Teh I Whel g

(4) Toeerl =1 qiREE gy

Options:-

=1, Option ID :- 301,
= 2, Option ID :- 302,
= 3, Option ID :- 303,




= 4, Option ID :- 304,
Answer Given:- 4, Option ID : -304

Question ID:- 77

The learning abilities of students can be enhanced best by which one of the following ?
(1) Co-curricular Activities

(2) Maximising students participation in ‘newly established, learning groups’ in every nearby
locality
(3) Conducting aptitude tests on learners

(4) Requesting senior citizens to come and deliver lectures in school

= o ¥ foryg u& o g/ B i AR &fHq) ATy 9@ S Hehdl @ 2
(1) grea-gHE wfafaftEr

(2) THeRe i Uedeh ol H 9 eriuastfers weEl’ § 9l ol SR see
(3) ferToeRdiati & stfirmar wiam gr

(4) aftss AR 1 Tha H SR 9o 24 w1 A g

2

Options:-
«1, Option ID :- 305,

= 2, Option ID :- 306,




= 3, Option ID :- 307,

= 4, Option ID :- 308,
Answer Given:- 1, Option ID : -305

Question ID:- 78

Choose the best answer. For a child, school is

(1) A place to spend time

) A place to make friends

) A place to prepare for future life
)

&7 B L

(
(
(4) A place to learn to live away from parents

U et & o Tha 301 © 7 Haliad STehl gy
(1) |9 forem =1 Teh TH

(2) BT S % U WA

(3) WS SfeH 7Y TR W U A

(4) AfTEERl ¥ g1 A Wi HiE 9T W Uk T

Options:-
«1, Option ID :- 309,




= 2, Option ID :- 310,
= 3, Option ID :- 311,

= 4, Option ID :- 312,
Answer Given:- 3, Option ID : -311

Question ID:- 79

As per NEP- 2020, what is the age of preparatory stage in théladder of education ?

(1) 9-14
(2) 5-8
(3) 8-11
(4) 6-8

foreqr & EramEl § NEP- 2020 o AgER/aard (Fuiedt) o @ &t 311 01 & 7

(1) 9-14 =4
(2) 5-89H
(3) 8-11 =
(4) 6-8

Options:-




=1, Option ID :- 313,
= 2, Option ID :- 314,
=« 3, Option ID :- 315,

= 4, Option ID :- 316,
Answer Given:- 3, Option ID : -315

Question ID:- 80

Which one of the following area has the maximum potefitial to develop the ability of emotional
balancing in adverse conditions ?

(1) Drawing and painting
(2) Games and sports
(3) Music

(4) Social Science

o uftfeafa & damas wgaeat ya fasfag w6 3 f= 40 3 § frad gaifies e 2 2




Options:-

«1, Option ID :- 317,
= 2, Option ID :- 318,
« 3, Option ID :- 319,

= 4, Option ID :- 320,
Answer Given:- 2, Option ID

: =318

Subject : ENG_Q81-Q180_TGTENG

Question ID:- 81

The old rice farmer was a /an

(1) easygoing

(2) fun-loving

(3) kind-hearted
(4) both (1) and (2)

Options:-

=1, Option ID :- 321,
= 2, Option ID :- 322,
=« 3, Option ID :- 323,

= 4, Option ID :- 324,
Answer Given:- 3, Option ID

: =323

persens




Question ID:- 82

How did the rice farmer become rich ?

(1) His dog made him find gold coins.

)

(2) He worked hard and made a lot of money.
(3) A daimo got pleased with him and gave him money.
(4)

4 He inherited a lot of land from his uncle.

Options:-

=1, Option ID :- 325,
= 2, Option ID :- 326,
=« 3, Option ID :- 327,

= 4, Option ID :- 328,
Answer Given:- 1, Option ID : -325

Question ID:- 83

The old farmer’s neighbour was
(1) poor and hardworking

(2)

(3) covetous and cruel
(4)

sensitive and kind

poor and noble




Options:-

=1, Option ID :- 329,
=« 2, Option ID :- 330,
=« 3, Option ID :- 331,

= 4, Option ID :- 332,
Answer Given:- 3, Option ID : -331

Question ID:- 84

What did the rice farmer do with his riches ?
(1) bought more land

gave some to his neighlmurs

H= 2 D

(2)

(3) made offerings at a temple
(4) invited his friends to a feast
Options:-

=1, Option ID :- 333,

=« 2, Option ID :- 334,

= 3, Option ID :- 335,

=« 4, Option ID :- 336,
Answer Given:- 1, Option ID : -333

Question ID:- 85




Study the following statements :
(A) The wicked neighbour enticed Muko into his garden.
(B) Muko refused to eat the dainties offered to him.

(1) (A) is right and (B) is wrong.
(2) (B) is right and (A) is wrong.
(3) Both (A) and (B) are right.
(4) Both (A) and (B) are wrong,.
Options:-

=1, Option ID :- 337,
« 2, Option ID :- 338,
= 3, Option ID :- 339,

= 4, Option ID :- 340,
Answer Given:- 3, Option ID : -339

Question ID:- 86




Choose the correct statement.

(1) Bepin Babu’s wife died 12 years ago.
(2) His brother’s death in a mental asylum saddened him.
(3) Now, he is living with his children.

(4) He served tea to Parimal on his lawn.
Options:-

=1, Option ID :- 341,

= 2, Option ID :- 342,

= 3, Option ID :- 343,

= 4, Option ID :- 344,
Answer Given:- 1, Option ID : -341

Question ID:- 87

Which of the following statemerits is\NOT true ?
Bepin Babu thought that he ¢Guldn’t'be forgetful as :
(1) He was working in a big firm.

(2) He was holding a responsible post.
(3) He had never done anything seriously wrong,
(4) That very day, he had addressed an important meeting for an hour.




Options:-

=1, Option ID :- 345,
= 2, Option ID :- 346,
= 3, Option ID :- 347,

= 4, Option ID :- 348,
Answer Given:- 3, Option ID : -347

Question ID:- 88

Which of the following statements is correct ?
(1) Bepin Babu liked food cooked by a “bawarchi’.
(2) He fell and hurt his left knee.

(3) Parimal brought him spirit for it.
(4)

4 Bepin Babu visited Ranchi in Octeber “59.

Options:-

«1, Option ID :- 349,
=« 2, Option ID :- 350,
=« 3, Option ID :- 351,

=« 4, Option ID :- 352,
Answer Given:- 1, Option ID : -349

Question ID:- 89




While at Ranchi, Bepin Babu visited but could not visit
(1) Bertram Street; Hudroo Falls

(2) Hudroo Falls; Netrahat
(3) Straw Road; Bertram Street
(4) Netrahat; Bertram Street

Options:-

=1, Option ID :- 353,
= 2, Option ID :- 354,
= 3, Option ID :- 355,

« 4, Option ID :- 356,
Answer Given:- 1, Option ID : -353

Question ID:- 90

After having talked to Dinesh Muketjee, how did Bepin Babu feel ?
(1) pleased

(2) worried
(3) satisfied
(4) aggrieved

Options:-




=1, Option ID :- 357,
= 2, Option ID :- 358,
=« 3, Option ID :- 359,

= 4, Option ID :- 360,
Answer Given:- 2, Option ID : -358

Question ID:- 91

Choose the correct statement.
(1) The selfish giant stayed with an ogre friend in Cernwal for seven years.

| R

He stayed with a Cornish giant for six years:

(2)
(3) He slept in a cave away from home forseveriyears.
(4)

He went away for six years in search of adventure.

Options:-

=1, Option ID :- 361,
= 2, Option ID :- 362,
=« 3, Option ID :- 363,

« 4, Option ID :- 364,
Answer Given:- 3, Option ID : -363

Question ID:- 92




Choose the correct statement.

(I) In his absence, the apple trees blossomed into pink and white flowers.
(2) In the autumn, these trees were laden with fruit.

(3) The peach trees bloomed with pink and pearl flowers.

(4) The birds sang on the trees and the children joined them in/Singing.

Options:-

«1, Option ID :- 365,
= 2, Option ID :- 366,
=« 3, Option ID :- 367,

« 4, Option ID :- 368,
Answer Given:- 4, Option ID : -368

Question ID:- 93

On his return, the giant was andoyed as :

(1) The children had spoiled his.Jawns.

(2) They had entered his private garden.

(3) They had plucked apples from his trees.

(4) They had broken some of the peach tree branches.

Options:-




=1, Option ID :- 369,
=« 2, Option ID :- 370,
= 3, Option ID :- 371,

= 4, Option ID :- 372,
Answer Given:- 2, Option ID : -370

Question ID:- 94

Which one of the following statements is NOT true ?
When children stopped coming to the garden,

(1) Spring forgot to come there.

(2) Only one beautiful flower grew out of the grass.

(3) Snow covered the grass with a white sheet

(4) Frost invited his friend the West,Wind to visit them.

Options:-

«1, Option ID :- 373,
= 2, Option ID :- 374,
= 3, Option ID :- 375,

= 4, Option ID :- 376,
Answer Given:- 4, Option ID : -376

Question ID:- 95




After sometime, the children stole into the garden as they wanted

(1) the Northwind to go away.

(2) grass to be green again.
(3) tojoin in the birds’ singing.
(4) to play in the big garden.

Options:-

«1, Option ID :- 377,
= 2, Option ID :- 378,
=« 3, Option ID :- 379,

= 4, Option ID :- 380,
Answer Given:- 4, Option ID : -380

Question ID:- 96

Father punishes Kezia as he is :

(1) angry

(2) upset

(3) frustrated

(4) hard-hearted

Options:-
=1, Option ID :- 381,




= 2, Option ID :- 382,
=« 3, Option ID :- 383,

= 4, Option ID :- 384,
Answer Given:- 3, Option ID : -383

Question ID:- 97

Choose the option which is incorrect.

In the begining of the story, we find that Kezia's father :
(1) is authoritative.

(2) has to work hard during the day.

(3) is very tired in the evening.

(4) 1s not well-paid in his job.

Options:-

«1, Option ID :- 385,
= 2, Option ID :- 386,
= 3, Option ID :- 387,

= 4, Option ID :- 388,
Answer Given:- 1, Option ID : -385

Question ID:- 98




Which of the following statements is NOT true ?

(1) Kezia stutters as she is scared of her father.

(2) Her father has no time in the morning to read the newspaper.
(3) Heis too lazy to even take off his boots.

(4) He listens only to his mother.

Options:-

=1, Option ID :- 389,
= 2, Option ID :- 390,
= 3, Option ID :- 391,

« 4, Option ID :- 392,
Answer Given:- 1, Option ID : -389

Question ID:- 99

"Then carefully tucked up the child’
The underlined phrase means™

(1) covered up nicely

(2) pulled up firmly
(3) dressed up
(4) cleaned up

Options:-




=1, Option ID :- 393,
= 2, Option ID :- 394,
=« 3, Option ID :- 395,

= 4, Option ID :- 396,
Answer Given:- 2, Option ID : -394

Question ID:- 100

At the end of the story, Kezia learns that :
(1) fathers simply like to command the family.

our actions are dependent on our circumstances,

&
(3) people are gentle only when outside the féurwalls of their homes.
(4)

some people are by nature hard-hearted.

Options:-

=1, Option ID :- 397,
« 2, Option ID :- 398,
=« 3, Option ID :- 399,

= 4, Option ID :- 400,
Answer Given:- 2, Option ID : -398

Question ID:- 101




The poet pleads with the wind :

(1) to bring gentle showers.

(2) to cool the hot weather.

(3) not to be destructive.

(4) to dry the wet clothes on the line.
Options:-

=1, Option ID :- 401,

= 2, Option ID :- 402,

= 3, Option ID :- 403,

« 4, Option ID :- 404,
Answer Given:- 1, Option ID : -401

Question ID:- 102

How does the wind not respond’?

(1) It scatters the books.
(2) It breaks down the raftefs.
(3) It wrecks the heart and soul of the weak people.
(4) Even the tall trees get uprooted.
Options:-

=1, Option ID :- 405,




= 2, Option ID :- 406,
= 3, Option ID :- 407,

= 4, Option ID :- 408,
Answer Given:- 2, Option ID : -406

Question ID:- 103

The message of the poem is NOT that :
(1) Only the strong can withstand the destructive powgrs.

(2) Strong bodies can face strong winds.
(3) Strong minds can stand against any wind,
(4) The weak should seek the friendship of the strong.

Options:-

=1, Option ID :- 409,
= 2, Option ID :- 410,
=« 3, Option ID :- 411,

= 4, Option ID :- 412,
Answer Given:- 1, Option ID : -409

Question ID:- 104




Iswaran did not for Mahendra.

(1) procure vegetables

(2) get spices and other condiments
(3) tidy up the room
(4) iron his clothes

Options:-

«1, Option ID :- 413,
= 2, Option ID :- 414,
= 3, Option ID :- 415,

= 4, Option ID :- 416,
Answer Given:- 2, Option ID : -414

Question ID:- 105

His stories were mcsstly

(1) mythological

(2) historical

(3) thrillers

(4) romantic
Options:-

=1, Option ID :- 417,




= 2, Option ID :- 418,
= 3, Option ID :- 419,

= 4, Option ID :- 420,
Answer Given:- 3, Option ID : -419

Question ID:- 106

Why did the teachers climb the school terrace when the mad @lephant entered the school ?
(1) They could watch what the elephant was doing,

(2) They could control the elephant from there.
(3) The rooms were packed with students.
(4) To their students they did not want to look terrified.

Options:-

=1, Option ID :- 421,
= 2, Option ID :- 422,
= 3, Option ID :- 423,

= 4, Option ID :- 424,
Answer Given:- 4, Option ID : -424

Question ID:- 107




Through his window, Mahendra saw that the ‘ghost” was carrying a

(1) skull

(2) bundle

(3) foetus

(4) skeleton
Options:-

«1, Option ID :- 425,

= 2, Option ID :- 426,

= 3, Option ID :- 427,

« 4, Option ID :- 428,
Answer Given:- 4, Option ID : -428

Question ID:- 108

After his midnight adventure, Mahendra finally:

(1) Dbelieved the ghost wasasfigment of Iswaran’s imagination.
(2) reasoned that it was an@uto-suggestion by his sub-conscious.
(3) thought it was a trick played by Iswaran to make his story authentic.
(4) actually started believing in the existence of ghosts.
Options:-

=1, Option ID :- 429,




= 2, Option ID :- 430,
= 3, Option ID :- 431,

= 4, Option ID :- 432,
Answer Given:- 4, Option ID : -432

Question ID:- 109

Why does the poet want to go to Innisfree ?
(1) to build a cabin there

(2) tosetup a farm
(3) to do the business of bee-keeping
(4) to escape from the noisy city

Options:-

=1, Option ID :- 433,
= 2, Option ID :- 434,
« 3, Option ID :- 435,

= 4, Option ID :- 436,
Answer Given:- 4, Option ID : -436

Question ID:- 110




What is the poet not going to get in the lake isle ?

(1) beans

(2) paper

(3) a bee-hive

(4) clay for cabin

Options:-

=1, Option ID :- 437,
= 2, Option ID :- 438,
= 3, Option ID :- 439,

= 4, Option ID :- 440,
Answer Given:- 2, Option ID : -438

Question ID:- 111

"Veils of the morning’
Which two figures of speech lvave been used by the poet in the above expression ?
(1) Simile; Metaphor

(2) Metaphor; Personification
(3) Apostrophe; Metaphor
(4) Hyperbole; Simile

Options:-




=1, Option ID :- 441,
= 2, Option ID :- 442,
= 3, Option ID :- 443,

= 4, Option ID :- 444,
Answer Given:- 2, Option ID : -442

Question ID:- 112

Anne started writing a diau'y as :
(1) she did not have a true friend.

(2) she was secretive by nature.
(3) she could not confide in her mother.
(4) her father was busy most of the time.

Options:-

=1, Option ID :- 445,
« 2, Option ID :- 446,
= 3, Option ID :- 447,

« 4, Option ID :- 448,
Answer Given:- 1, Option ID : -445

Question ID:- 113




In 1942, her family comprised members.

() 3
(2) 4
3) 5
(4) 6
Options:-

=1, Option ID :- 449,
= 2, Option ID :- 450,
= 3, Option ID :- 451,

=« 4, Option ID :- 452,
Answer Given:- 2, Option ID : -450

Question ID:- 114

She was assigned to write a coniposition on the topic, “A chatterbox” by her
(1) English teacher

(2) Social Science teacher
(3) Maths teacher
(4) Natural Sciences teacher

Options:-
«1, Option ID :- 453,




= 2, Option ID :- 454,
« 3, Option ID :- 455,

= 4, Option ID :- 456,
Answer Given:- 1, Option ID : -453

Question ID:- 115

To write her last assignment, her friend,
(1) Jacques

(2) Samne

(3) GN

(4) C.N
Options:-

=1, Option ID :- 457,
= 2, Option ID :- 458,
= 3, Option ID :- 459,

= 4, Option ID :- 460,
Answer Given:- 2, Option ID : -458

, offered"to help her.

Question ID:- 116




Mr. Keesing at the third assignment submitted by Anne.

(1) was surprised
(2) was shocked
(3) felt amused
(4) got very angry

Options:-

=1, Option ID :- 461,
= 2, Option ID :- 462,
= 3, Option ID :- 463,

« 4, Option ID :- 464,
Answer Given:- 3, Option ID : -463

Question ID:- 117

According to Lucio Rodrigues, whois NOT required to make loaves of bread in Goa ?

(

|—|.

) A mixer

(2) A kneader
(3) A moulder
(4) A baker

Options:-
«1, Option ID :- 465,




= 2, Option ID :- 466,
= 3, Option ID :- 467,

= 4, Option ID :- 468,
Answer Given:- 4, Option ID : -468

Question ID:- 118

Why were the children keen to greet the ‘Pader’ :
They wanted :

(1) sweet bread

(2) sweet bun

(3) bread - bangles
(4) ginger bread

Options:-

=1, Option ID :- 469,
= 2, Option ID :- 470,
= 3, Option ID :- 471,

= 4, Option ID :- 472,
Answer Given:- 3, Option ID : -471

Question ID:- 119




What arguments were advanced by the children for not brushing their teeth ?
(A) The tiger never brushes his teeth.

(B) The tooth brushes had been mislaid.

(C) The paste was all squeezed out.
(

D) Tea would wash up and clean everything.

(1) (A) and (D)
(2) (A) and (C)
(3) (A)and (B)
(4) (B)and (C)
Options:-

=1, Option ID :- 473,
= 2, Option ID :- 474,
=« 3, Option ID :- 475,

= 4, Option ID :- 476,
Answer Given:- 1, Option ID : -473

Question ID:- 120




On a daughter’s engagement, guests would be served
(1) bols

(2) cakes
(3) sandwiches
(4) bolinhas

Options:-

=1, Option ID :- 477,
= 2, Option ID :- 478,
= 3, Option ID :- 479,

« 4, Option ID :- 480,
Answer Given:- 2, Option ID : -478

Question ID:- 121




Study the following statements :
(A) In olden days, baking used to be a profitable profession.
(B) Now the baker has to work hard to earn his living.

(1) (A) is right and (B) is wrong.
(2) (B)isrightand (A) is wrong.
(3) Both (A) and (B) are right.

(4) Both (A) and (B) are wrong,.

Options:-

=1, Option ID :- 481,
= 2, Option ID :- 482,
=« 3, Option ID :- 483,

= 4, Option ID :- 484,
Answer Given:- 3, Option ID : -483

Question ID:- 122




The tiger wants to be near a water hole as :
(1) he is thirsty.

(2) he wants to swim.
(3) the deer come to drink here.
(4) the grass is thick around it.

Options:-

=1, Option ID :- 485,
= 2, Option ID :- 486,
= 3, Option ID :- 487,

= 4, Option ID :- 488,
Answer Given:- 3, Option ID : -487

Question ID:- 123

He ignores visitors as :
(1) he is hungry.

(2) he does not like their cufiosity.
(3) heis helpless.
(4) they are not his prey.

Options:-
=1, Option ID :- 489,




= 2, Option ID :- 490,
= 3, Option ID :- 491,

= 4, Option ID :- 492,
Answer Given:- 3, Option ID : -491

Question ID:- 124

‘In his quiet rage’

The figure of speech used here is :
(I) Oxymoron

(2) Metaphor

(3) Hyperbole

(4) Metonymy

Options:-

=1, Option ID :- 493,
« 2, Option ID :- 494,
= 3, Option ID :- 495,

= 4, Option ID :- 496,
Answer Given:- 1, Option ID : -493

Question ID:- 125




What fascinated the two boys ?
(1) muddy footprints on the steps

(2) footprints moving down the street
(3) even the snow could not stop them
(4) the footprints started moving towards them

Options:-

=1, Option ID :- 497,
= 2, Option ID :- 498,
= 3, Option ID :- 499,

« 4, Option ID :- 500,
Answer Given:- 1, Option ID : -497

Question ID:- 126

Why did Griffin remove his clothes 2
(1) They were ill-fitting.

(2) He was going to take awbath.
(3) They would have made him visible.
(4) They were not fashionable.

Options:-
=1, Option ID :- 501,




= 2, Option ID :- 502,
=« 3, Option ID :- 503,

= 4, Option ID :- 504,
Answer Given:- 3, Option ID : -503

Question ID:- 127

One effect of be coming invisible which he did not realise was“that he became :
(1) homeless

(2) mnaked
(3) moneyless
(4) sick

Options:-

=1, Option ID :- 505,
= 2, Option ID :- 506,
« 3, Option ID :- 507,

= 4, Option ID :- 508,
Answer Given:- 2, Option ID : -506

Question ID:- 128




Griffin stole into a store. As a result he could not :
(1) warm himself

(2) feed himself
(3) enjoy a sleep
(4) wake up in time before the store opened

Options:-

=1, Option ID :- 509,
=« 2, Option ID :- 510,
= 3, Option ID :- 511,

= 4, Option ID :- 512,
Answer Given:- 1, Option ID : -509

Question ID:- 129

From a make-up shop, he stole :
(1) a long overcoat.

(2) bandages to cover his faCe.
(3) bushy side-whiskers.
(4) a false nose.

Options:-
=1, Option ID :- 513,




= 2, Option ID :- 514,
« 3, Option ID :- 515,

= 4, Option ID :- 516,
Answer Given:- 2, Option ID : -514

Question ID:- 130

Study the following statements :
(A) Griffin stole only housekeeping money from the clergyman’s house.

(B) Heused to keep his door always locked at Mrs Hall’s inn.

(1) (A) is right and (B) is wrong.

(2) (B)is rightand (A) is wrong.

(3) Both (A) and (B) are right.

(4) Both (A) and (B) are wrong,.
Options:-

=1, Option ID :- 517,
=« 2, Option ID :- 518,
= 3, Option ID :- 519,

= 4, Option ID :- 520,
Answer Given:- 3, Option ID : -519

Question ID:- 131




Fill in the blank in the following sentence with proper linking word.

[ shall not take away this book you allow me.
(1) if

(2) as

(3) unless

(4) but
Options:-

=1, Option ID :- 521,
= 2, Option ID :- 522,
= 3, Option ID :- 523,

= 4, Option ID :- 524,
Answer Given:- 3, Option ID : -523

Question ID:- 132

Fill in the blank in the following séntence with proper linking word.

Our means are not much we will help you.
(1) yet

(2) though

(3) so

(4) if




Options:-

=1, Option ID :- 525,
= 2, Option ID :- 526,
=« 3, Option ID :- 527,

= 4, Option ID :- 528,
Answer Given:- 1, Option ID : -525

Question ID:- 133

Fill in the blank in the following sentence with proper lirtking word.

We have won the match we must make mérry.
(1) yet

(2) Dbut

(3) so

(4) as
Options:-

«1, Option ID :- 529,
= 2, Option ID :- 530,
=« 3, Option ID :- 531,

= 4, Option ID :- 532,
Answer Given:- 3, Option ID : -531




Question ID:- 134

Fill in the blank in the following sentence with proper linking word.

Ameek was angry he kept his cool.
(1) so

(2) and

(3) untl

(4) still

Options:-

=1, Option ID :- 533,
=« 2, Option ID :- 534,
=« 3, Option ID :- 535,

= 4, Option ID :- 536,
Answer Given:- 4, Option ID : -536

Question ID:- 135




Fill in the blank in the following sentence with proper linking word.

the rain stopped, the sun came out.

(1) So

(2) And

(3) As

(4) Though
Options:-

=1, Option ID :- 537,
=« 2, Option ID :- 538,
= 3, Option ID :- 539,

=« 4, Option ID :- 540,
Answer Given:- 3, Option ID : -539

Question ID:- 136

Choose the option in which-thé given sentence has been changed into Passive Voice.
Someone gave her a dog.

(1) She was given a dog by someone.

A dog was given her.

2 D

(2)
(3) A dog was being given to her.
(4) Sheis given a dog.




Options:-

=1, Option ID :- 541,
=« 2, Option ID :- 542,
= 3, Option ID :- 543,

= 4, Option ID :- 544,
Answer Given:- 2, Option ID : -542

Question ID:- 137

Choose the option in which the given sentence has been changed into Passive Voice.
You must go through this book.

(1) That book must be gone through.

(2) This book must go through by you.

(3) This book must be gone through by you.

(4) That book must be gone through by you.

Options:-

=1, Option ID :- 545,
= 2, Option ID :- 546,
= 3, Option ID :- 547,

= 4, Option ID :- 548,
Answer Given:- 1, Option ID : -545




Question ID:- 138

Choose the option in which the given sentence has been changed into Passive Voice.
I shall tell you more about this.

(1) About this more will be told you by me.

(2) You will be told more about this by me.
(3) About this more will be told.
(4) You would be told more about that.

Options:-

=1, Option ID :- 549,
=« 2, Option ID :- 550,
=« 3, Option ID :- 551,

= 4, Option ID :- 552,
Answer Given:- 2, Option ID : -550

Question ID:- 139




Choose the option in which the given sentence has been changed into Passive Voice.
He has built his house here.

(1) His house has been built there.

(2) He had built his house.

(3) His house had been built here.

(4) His house has been built here by him.
Options:-

=1, Option ID :- 553,
= 2, Option ID :- 554,
=« 3, Option ID :- 555,

= 4, Option ID :- 556,
Answer Given:- 1, Option ID : -553

Question ID:- 140

Choose the option in which the given sentence has been changed into Passive Voice.
She is buying a shirt.
(1) A shirt is bought by her.

(2) A shirtis being bought by her.
(3) A shirt was bought by her.
(4) A shirt has been bought by her.




Options:-

=1, Option ID :- 557,
= 2, Option ID :- 558,
=« 3, Option ID :- 559,

= 4, Option ID :- 560,
Answer Given:- 2, Option ID : -558

Question ID:- 141

Choose the option in which the given sentence has-been put into Indirect speech.
Hari said, “I am proud to be here with you this eyening.”

(1) Hari told that he was proud to be hereaith you this evening,

(2) Hari told us that he was proud to be there,with you, that evening,
(3) Hari said that he was proud to béithere with you that evening.
(4) Hari told that he was proud t6 be theére this evening with you.

Options:-

=1, Option ID :- 561,
= 2, Option ID :- 562,
=« 3, Option ID :- 563,

= 4, Option ID :- 564,
Answer Given:- 3, Option ID : -563




Question ID:- 142

Choose the option in which the given sentence has been put into Indirect speech.
Alice said to me, “Will you lend me your book ?”

(1) Alice requested me to lend her my book.

(2) Alice asked me if [ would lend me your book.
(3) Alice asked me if I would lend her my book ?
(4) Alice asked me if I would lend her my book.

Options:-

=1, Option ID :- 565,
= 2, Option ID :- 566,
=« 3, Option ID :- 567,

= 4, Option ID :- 568,
Answer Given:- 4, Option ID : -568

Question ID:- 143




Choose the option in which the given sentence has been put into Indirect speech.
The stranger said to me, “I am glad to meet you.”

(1) The stranger told me that he is glad to meet me.

(2) The stranger told me that he was glad to meet me.
(3) The stranger told to me that I am glad to meet you.
(4) The stranger said that he was glad on meeting me.
Options:-

=1, Option ID :- 569,

=« 2, Option ID :- 570,

= 3, Option ID :- 571,

= 4, Option ID :- 572,
Answer Given:- 2, Option ID : -570

Question ID:- 144

Choose the option in which-thé.given sentence has been put into Indirect speech.
The teacher said to Radha, “D0 you have anything to say to me ?”

(1) The teacher told Radha did she have anything to say to her.

2)  The teacher asked Radha if she had anything to say to her.

3) The teacher asked Radha if she did have anything to say to her.

(
(
(4) The teacher asked Radha did she have anything to say to her.




Options:-

=1, Option ID :- 573,
= 2, Option ID :- 574,
= 3, Option ID :- 575,

= 4, Option ID :- 576,
Answer Given:- 3, Option ID : -575

Question ID:- 145

Choose the option in which the given sentence has -been put into Indirect speech.
He said, “Alas! Our enemy is so strong”.

(1) He exclaimed with sorrow that their enemy was so strong.

(2) He said with sorrow that his enemy was Se strong.
(3) He warned that their enemy was'soétrong.
(4) He exclaimed with alas that thelx enémy was so strong,

Options:-

=1, Option ID :- 577,
= 2, Option ID :- 578,
=« 3, Option ID :- 579,

= 4, Option ID :- 580,
Answer Given:- 1, Option ID : -577




Question ID:- 146

Identify the clause of the underlined expression.
A guest is not liked if he stays too long.

(1) Principal

(2) Noun

(3) Adjective

(4) Adverb

Options:-

=1, Option ID :- 581,
=« 2, Option ID :- 582,
= 3, Option ID :- 583,

= 4, Option ID :- 584,
Answer Given:- 2, Option ID : -582

Question ID:- 147




Identify the clause of the underlined expression.
He has done well ever since he has come here.
(1) Principal

(2) Noun

(3) Adjective

(4) Adverb
Options:-

=1, Option ID :- 585,
= 2, Option ID :- 586,
=« 3, Option ID :- 587,

= 4, Option ID :- 588,
Answer Given:- 1, Option ID : -585

Question ID:- 148

Identify the clause of the underlined expression.

It is the same dog that bit youdast week.
(1) Principal

(2) Noun
(3) Adjective
(4) Adverb




Options:-

=1, Option ID :- 589,
= 2, Option ID :- 590,
=« 3, Option ID :- 591,

= 4, Option ID :- 592,
Answer Given:- 3, Option ID : -591

Question ID:- 149

Identify the clause of the underlined expression.
He has agreed that he will address the meeting.

(1) Principal

(2) Noun

(3) Adjective

(4) Adverb

Options:-

=1, Option ID :- 593,
= 2, Option ID :- 594,
=« 3, Option ID :- 595,

= 4, Option ID :- 596,
Answer Given:- 2, Option ID : -594




Question ID:- 150

Identify the clause of the underlined expression.
As I was going in, my friend gave me a smile.

(1) Principal

(2) Noun

(3) Adjective

(

4)  Adverb

Options:-

=1, Option ID :- 597,
= 2, Option ID :- 598,
=« 3, Option ID :- 599,

= 4, Option ID :- 600,
Answer Given:- 2, Option ID : -598

Question ID:- 151




Choose the option in which the following word/phrase have been rearranged to form
meaningful sentence.

(A) your time of need
(B) itis extremely

(€) to desert you in
(D) base of him

(L) (B) (D) (©) (A)
(2) (O (B) (D) (A)
(3) (A)(©) (D) (B)
(4) (D) (C) (B) (A)
Options:-

=1, Option ID :- 601,
=« 2, Option ID :- 602,
« 3, Option ID :- 603,

= 4, Option ID :- 604,
Answer Given:- 1, Option ID : -601

Question ID:- 152




Choose the option in which the following word/phrase have been rearranged to form
meaningful sentence.

(A) the camel is
(B) he has to do
(C) how well-fitted
(D) for the work

(1) (D) B) © (A)
(2 @A) (© (B) (D)
(3) (B) (Q) (A) (D)
4 (O (A) (D) (B)
Options:-

=1, Option ID :- 605,
= 2, Option ID :- 606,
« 3, Option ID :- 607,

= 4, Option ID :- 608,
Answer Given:- 4, Option ID : -608

Question ID:- 153




Choose the option in which the following word/phrase have been rearranged to form
meaningful sentence.

(A) a man who is
(B) itisuseless

(C) to offer bread to
(D) dying of thirst

(1)  (A) (© (B) (D)
(2 (B) Q) (A) (D)
(3) (©Q) (D) (A) (B)
(49 (D) @A) (B) ©
Options:-

=1, Option ID :- 609,
= 2, Option ID :- 610,
=« 3, Option ID :- 611,

= 4, Option ID :- 612,
Answer Given:- 2, Option ID : -610

Question ID:- 154




Choose the option in which the following word/phrase have been rearranged to form
meaningful sentence.

(A) the world will you
(B) building than the Taj
(C) find a fairer

(D) nowhere in

(L (D) @A) © B)
(2) (©) (D) (A) (B)
(3) (B) (Q) (A) (D)
(4)  (A)(©) (B) (D)
Options:-

=1, Option ID :- 613,
=« 2, Option ID :- 614,
« 3, Option ID :- 615,

= 4, Option ID :- 616,
Answer Given:- 1, Option ID : -613

Question ID:- 155




Choose the option in which the following word/phrase have been rearranged to form
meaningful sentence.

(A) why do you

(B) since you have
(C) ask my opinion
(D) already decided

(1) (© (B) (A) (D)
(2) (B) (D) (A) Q)
(3) (A)(B) (©) (D)
(49 (D) (A) B) ©)
Options:-

«1, Option ID :- 617,
= 2, Option ID :- 618,
« 3, Option ID :- 619,

= 4, Option ID :- 620,
Answer Given:- 2, Option ID : -618

Question ID:- 156




Identify the part of the sentence in which there is an error.
The rise and / fall of tide / are / due to lunar influence

(a) (b) (c) (d)
(1) (a)
(2) (b)
(3) ()
4 (@
Options:-

=1, Option ID :- 621,
= 2, Option ID :- 622,
= 3, Option ID :- 623,

= 4, Option ID :- 624,
Answer Given:- 3, Option ID : -623

Question ID:- 157




Identify the part of the sentence in which there is an error.
He did / not come / to the meeting, / didn’t he ?

() (b) (c) (d)

I
T S

o .r"r_'\- A —,
th LR
e S

Options:-

=1, Option ID :- 625,
= 2, Option ID :- 626,
=« 3, Option ID :- 627,

= 4, Option ID :- 628,
Answer Given:- 4, Option ID : -628

Question ID:- 158




Identify the part of the sentence in which there is an error.

Two-thirds / of the city / has been damaged / by the earthquake
(a) (b) (c) (d)

a

(

(b
(c
(d)

=7
e
I

2
—

3)

4)

S| ge—
S

Options:-

=1, Option ID :- 629,
= 2, Option ID :- 630,
=« 3, Option ID :- 631,

= 4, Option ID :- 632,
Answer Given:- 1, Option ID : -629

Question ID:- 159




Identify the part of the sentence in which there is an error.
Rita wished to / play with me / but which / I declined.

(a) (b) (€) (d)
(1) (a)
(2) (b
(3 (©
(4)  (d)
Options:-

=1, Option ID :- 633,
= 2, Option ID :- 634,
=« 3, Option ID :- 635,

= 4, Option ID :- 636,
Answer Given:- 3, Option ID : -635

Question ID:- 160




Identify the part of the sentence in which there is an error.

Each one of / the male soldiers gave / their individual / account of the battle.

(a) (b) (c)
(D) (a)
(2) (b)
(3) (¢
(4 ()
Options:-

=1, Option ID :- 637,
« 2, Option ID :- 638,
= 3, Option ID :- 639,

= 4, Option ID :- 640,
Answer Given:- 3, Option ID : -639

(d)

Question ID:- 161




Choose the correct option to complete the sentence given below.

His honesty has his prosperity.
(1) brought about

(2) borne out

(3) brought forward

(4) borne up
Options:-

=1, Option ID :- 641,
= 2, Option ID :- 642,
= 3, Option ID :- 643,

= 4, Option ID :- 644,
Answer Given:- 1, Option ID : -641

Question ID:- 162

Choose the correct option torecompléte the sentence given below.

Ramneek had to for his rude behaviour.

(_

2

1)
(2)
(3)
(4)

set him up
run him out
set him down
strike him up




Options:-

=1, Option ID :- 645,
« 2, Option ID :- 646,
= 3, Option ID :- 647,

= 4, Option ID :- 648,
Answer Given:- 2, Option ID : -646

Question ID:- 163

Choose the correct option to complete the sentence given below.
No one can be sure what will next.
(1) turn out

(2) turn up
(3) work out
(4) pullup

Options:-

=1, Option ID :- 649,
=« 2, Option ID :- 650,
=« 3, Option ID :- 651,

= 4, Option ID :- 652,
Answer Given:- 1, Option ID : -649




Question ID:- 164

Choose the correct option to complete the sentence given below.
Ram has a lot in search of a job.
(1) knocked about

(2) knocked up
(3) looked up
(4) looked to

Options:-

=1, Option ID :- 653,
=« 2, Option ID :- 654,
= 3, Option ID :- 655,

= 4, Option ID :- 656,
Answer Given:- 3, Option ID : -655

Question ID:- 165




Choose the correct option to complete the sentence given below.
The fire a lot of smoke.

(1) gave way to

=2

came by

S5

(2)
(3) came around
(4) gave off

Options:-

=1, Option ID :- 657,
= 2, Option ID :- 658,
= 3, Option ID :- 659,

« 4, Option ID :- 660,
Answer Given:- 2, Option ID : -658

Question ID:- 166

Identify the tense form in the fellowing sentence.
The bird has flown away.
(1) Present Indefinite

2

Present Perfect

I

(2)
(3) Present Continuous
(4) Present Perfect Continuous




Options:-

=1, Option ID :- 661,
= 2, Option ID :- 662,
=« 3, Option ID :- 663,

= 4, Option ID :- 664,
Answer Given:- 2, Option ID : -662

Question ID:- 167

Identify the tense form in the following sentence.
We shall be living here :

(1) Future Indefinite

(2) Future Continuous

(3) Present Continuous

(4) Future Perfect

Options:-

=1, Option ID :- 665,
= 2, Option ID :- 666,
« 3, Option ID :- 667,

= 4, Option ID :- 668,
Answer Given:- 2, Option ID : -666




Question ID:- 168

Identify the tense form in the following sentence.
Sheela is going tomorrow.

(1) Future Continuous
(2) Present Indefinite
(3) Present Continuous
(4) Present Perfect

Options:-

=1, Option ID :- 669,
=« 2, Option ID :- 670,
= 3, Option ID :- 671,

= 4, Option ID :- 672,
Answer Given:- 3, Option ID : -671

Question ID:- 169




Identify the tense form in the following sentence.
We had been working since morning,

(1) Present Perfect Continuous

(2) Past Continuous
(3) Past Perfect
(4) Past Perfect Continuous

Options:-

«1, Option ID :- 673,
= 2, Option ID :- 674,
= 3, Option ID :- 675,

= 4, Option ID :- 676,
Answer Given:- 4, Option ID : -676

Question ID:- 170

Identify the tense form in the fellowing sentence.
We have done our jobs.
(1) Present Indefinite

2

Present Perfect

I

(2)
(3) Present Continuous
(4) Past Perfect




Options:-

=1, Option ID :- 677,
= 2, Option ID :- 678,
=« 3, Option ID :- 679,

= 4, Option ID :- 680,
Answer Given:- 2, Option ID : -678

Question ID:- 171

Replace the * mark with proper punctuation mark in thefollowing sentence.
What a piece of work is man *

(1) Full stop

(2) Exclamation Mark

(3) Colon

(4) Question Mark

Options:-

=1, Option ID :- 681,
=« 2, Option ID :- 682,
= 3, Option ID :- 683,

= 4, Option ID :- 684,
Answer Given:- 2, Option ID : -682




Question ID:- 172

Replace the * mark with proper punctuation mark in the following sentence.
[ wish I were young again *

(1) Full stop

(2) Exclamation Mark

(3) Question Mark

(4) Colon

Options:-

=1, Option ID :- 685,
= 2, Option ID :- 686,
= 3, Option ID :- 687,

= 4, Option ID :- 688,
Answer Given:- 2, Option ID : -686

Question ID:- 173




Replace the * mark with proper punctuation mark in the following sentence.

[ came * I saw * I conquered.

(1)

Semi-colon; Semi-colon

(2) Comma; Comma

(3) Exclamation Mark; Exclamation Mark
(4) Full stop; Full stop

Options:-

=1, Option ID :- 689,
= 2, Option ID :- 690,
=« 3, Option ID :- 691,

= 4, Option ID :- 692,
Answer Given:- 2, Option ID : -690

Question ID:- 174

Replace the * mark with proper.punctuation mark in the following sentence.

Who can succeed here *

(1)

5 B L

(2)
(3)
(4)

Full stop

Question Mark
Exclamation Mark
Colon




Options:-

=1, Option ID :- 693,
= 2, Option ID :- 694,
=« 3, Option ID :- 695,

= 4, Option ID :- 696,
Answer Given:- 3, Option ID : -695

Question ID:- 175

Replace the * mark with proper punctuation mark in théfollowing sentence.
He is a landlord * she is a tenant.

(1) Full stop

(2) Comma

(3) Exclamation Mark
(4) Semi-colon

Options:-

«1, Option ID :- 697,
= 2, Option ID :- 698,
= 3, Option ID :- 699,

= 4, Option ID :- 700,
Answer Given:- 1, Option ID : -697




Question ID:- 176

Identify the type of sentence in the following sentence.
Please, don’t go away:.

(1) Affirmative

(2) Interrogative

(3) Negative

(4) Exclamatory

Options:-

=1, Option ID :- 701,
= 2, Option ID :- 702,
« 3, Option ID :- 703,

= 4, Option ID :- 704,
Answer Given:- 1, Option ID : -701

Question ID:- 177




Identify the type of sentence in the following sentence.

What can I do for you ?

(1) Affirmative

(2) Interrogative

(3) Exclamatory

(4) Negative
Options:-

=1, Option ID :- 705,
= 2, Option ID :- 706,

= 3, Option ID :- 707,

= 4, Option ID :- 708,
Answer Given:- 2, Option ID : -706

Question ID:- 178

Identify the type of sentencein.the following sentence.

What a wonderful moon!

(1)

2 D

(2)
(3)
(4)

Affirmative
Interrogative
Exclamatory
Negative




Options:-

=1, Option ID :- 709,
=« 2, Option ID :- 710,
= 3, Option ID :- 711,

= 4, Option ID :- 712,
Answer Given:- 3, Option ID : -711

Question ID:- 179

Identify the type of sentence in the following sentence.
Who can succeed here ?

(1) Affirmative

(2) Interrogative

(3) Negative

(4) Exclamatory

Options:-

«1, Option ID :- 713,
= 2, Option ID :- 714,
=« 3, Option ID :- 715,

« 4, Option ID :- 716,
Answer Given:- 2, Option ID : -714




Question ID:- 180

Identify the type of sentence in the following sentence.
It is about to rain.

(1) Affirmative
(2) Interrogative
(3) Exclamatory
(4) Negative

Options:-

«1, Option ID :- 717,
=« 2, Option ID :- 718,
=« 3, Option ID :- 719,

= 4, Option ID :- 720,
Answer Given:- 1, Option ID : -717






